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| a 1. Solve the equation. uj ’G "'//! f/ o z (/1\-'9

| 33 +x2 - 12x-4=0 Srar 7 2. @'Tﬁrrn.,

The solution set i |s e
| (Simpli youranSWer Typehan int or)a simplified fractlon Use a com ato saparate _‘ /
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y A Al Y
i l. __, _2,2 4 (-:3‘) th _.""‘ \/-‘
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2. Find the domain of the function. (é
[P
f(x) = 4/2x- 14 A
| ‘ _The domain is ] (Type your answer in interval notation.) ":
: e Y
N Answer: [7,00)
R
il /s
| ID:1.1.59 :‘/’
_ A ,/
W
)< Vaxrt v
1y
? e / v % © f‘| f’
~ sy = 01 ly |
2= /Y b/
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f00 = 2x+9; g = 7x - 3 (£+9)) - - Y

o

(‘]‘_iﬂ’la l.&J |

(—22,¥)

r box to comp!ete our

(a) Find (f+ g)(x). '/’><'| —~ j &G E
(8T //( 5)
Lyt GA7H=3

What is the domain of f + g? Select the correct choice below and, if necessary, fill in the ans

f+o)x)= (Simplify your answer,)

choice. ,/”- P
f X “fé ] ) L{/
© A. The domain is {x| }.
(Use integers or fractions for any numbers in the expressnon Use a comma to separate
answers as needed.
) ( r"" ))r’ X) =

O B. The domain is {x| X is any real number}.

4_ /,(} -—‘_'j (**) —_

ﬂ(b)Find(f—g)(x). (C’)(r?“ ) g (’7( - ) Ea ""'c{{_m?c..,j \\}‘

f-g)(x) = | (Simplify your answer.) 7 (. q //< s = _L )(ﬂ. /)d) /
What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box-to complete your.— pell
choice. = < X —+ [2 - Y

o WL S SR g~

O A. The domain is {x }

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( ol ¢ p& z e —
O B. The domain is {x| x is any real number}. () = Y

- ) ’ j xX) = NI
(c) Find (f+ g)(x). 3 - =
) )('fﬁl) 74—3) (—oe (w)
(feg)(x)= (Simplify your answer.)

/A =6 X+ (i — 27— —

What is the domain of f - g? Select the correct choice below-and; if necessary, fill-in.the answer box to complete your choice.
(98 S STX=2T= ) o
© A. The domain is {x| }- _

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) 4

(O B. The domain is {x| x is any real number}. (:j: )M e
-~ ZQO
J.{.é(—)- s A D -
50
(Simplify your answer.) iﬂL_e i
73— 7

f
What is the domain of E'? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

/w/,% X+ € Bk
O A. The domain is {x| - } : (3) 7/3)_/;,6 Q_____ __)t_//, \

(Use integers or fractions for any numbe mt ex resslon Use a comma to separate C‘l.(JVM G
answers as needed.) F—+ j) (p ~ =

O B. The domain is {x| x is any real-numbery. . . . D
/’f’j) (3) = 35 e

(e) Find (f+ g)(3). < _

20f27 12/2/2019, 8:14 AM
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(d) Find (EJ (x).
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(9) Find (f+ g)(4).
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(f+g)(3)=. (Type an integer or a simplified fraction.) (%—‘y/ )O 5 "")/,(—-f‘/ ‘ Z‘

ind (f- 9)(2). 6[ ”7) (2)e =5 (a)r7 L.
~OT/L_

(f-9)@2)= (Type an integer or a simplified fraction. )( _
— f—s)(0) -

(feg)4)= ' (Type an integer or a simplified fraction, )

F))(’L/ Z—-\ Lo

(g P ety vra-e
y F3) (4)= /909) s 027
[ J(1)"|___(Typean |ntegerora5|mp/;9dfrac)mm() V) /y(q///({) 7/5 7/y) g /
Anawers 18 7o 9 () * V(16D ST (82T

B. The domain is {x| X is any real number}. / ) [ (/)

-5x+12
B. The domain is {x| x is any realgtl_g :

fC/FZ>

|
14x% + 57x - 27 )/)(/ — 2/)( :
“ -
B. The domain is {x| x is any real number}. (\/‘ F 7/( S
2x+9

o 7
x#; .

A. The domain is {x|

22y LT

'\

_,-—'—"'/w{

7x-3 | (ﬁ;—f)/l) < 275%17

(Use integers or fractions for any numbers in the e::/presmon Use a comma to separaée answers as needed.)
/

2t

: P05

425 6/) (l) B _/,L ~ -‘\\ e
11 e - &f
ID: 1.1.67
4, f(x+h) f(x) o a -
Find the difference quotient of f; that is, find ———, h#0, for the foIIowmg function. Be sure to simplify.
l f(x) = X2 -6x+9 /(M-FA/) =2 ) ( /( - (,)(T ﬁ‘) -
f(x+h) fx) Zx‘,ﬂn, )(.A" ~(A—=GC }) + 9 X ‘/’6)(" -
= N“f%-h‘hax— h+q —x ¢ |
Answer: 2x+h - 6 t 6_. ' 7 6A— ? L

3of27
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exhoehch _ Ly 4
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5.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find
(a) its domain and range.
(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

/U_}/Yes/

) No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes Wlthll'l your choice. [e // viyh+ ) e (é - )
P \ E oﬂ)m J [Op
(,E ai »IS[ 2, o) Theﬁge}s) (_‘ )C’/ 67
(Ty, Vo{ answers in interval notatiap.) ~ = E
{0 B. The graph is not a function.

What are wcepts" e!ect the correct chmce below and fill in any answer t{:oxes within your choice.
o/
o'l T C.L

r Jvl A ~iw LAy /
/A(-~ O) ((U) (C)
(Type an} ordered pair. Use a cornrna to separate answers as needed.)
() B. There are no intercepts.
(O €. The graph is not a function.

Determine |f the graph is symmetrical.

(’ : r(/AJ It is symmetrical with respect to the y-axis._ H‘R"‘“-.
g () B, Ifis symmetricat with respecttothe x-axis. .
() C. Itis symmetrical with respect to the origin.
(O D. The graph is not symmetrical.

() E. The graph is not a function.

Answers Yes
A.The domainis| (=o0,00) | Therangeis (— 00,6] .(Type your answers in interval notation.)

A. |(6,0),( - 6,0),(0,6) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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6. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

\ /p/(z"ﬂ ‘s

‘V\ /;;\\ )//}ﬂl’htw-f / /"‘éj LM’L
v

(@) Whatgfethe mtercept .‘; X Z
= (J/) (/,0) /U/ /)

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as

d (b) Thﬁomam is) f ! J = (7”/( V’)4f'j \‘““iu

(Type y v ansWer in intervalnotation. )

QT rangels O ZI 'k’_‘ [ét’//\mj 70&:(

(Type your answer i interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any
choice.

(FA. The graph I(sgcreasmgt‘m [ ¢ C)£ [/ j

(Type your answer in interval notation. Use a comma to separate answers as needed.)
(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your -
choice.

T A. The graph @easmg on C 3 - éj FO) /J /\

(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

Y ' ==
(O A. The graph is constant on L 7" f v l'.,
(Type your answer in interval notatlon Use a comma to separate answers as needed.) CX
C'q/B The graph is not constant on any interval. (UL eg ,«
SSLE IR g

o - /J' & L)L\ bl pewE )
(d) The function is (1)t— C\ ks LLL ],,as C 1 w44

J /
(1) O odd. o v’_' S 2 c‘.iye\
) even. /ar)% 07w V! ) / /

ther odd A;(J' SJ/G\ /)as 0’7{/
2 FFE e

/
/

/
r/.‘
D

\
\

50f27 12/2/2019, 8:14 AM
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Answers (- 2,0),(1,0),(0,1)
[-3.3]
[0,2]

A. The graph is increasing on [-2,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, - 2],[0,1] ..
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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7. The function f is defined as follows.

2+2x ifx<0
f(x) = _
X2 if x20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

@ T@ain\ﬁﬂhe function fis | ) -‘*) === (/4’/( V/),{ {)
(Type YQur a_ns\ﬁ;rin interval notation.) /

(b) Locate a m “Select the corre choice below and, if neoessary, fill in the answer box to complete your choice.
Ay

_,[r’\

—inkey c.-h/?n{—' .
O A, Th ntercept(s} |s/areg l} k-)/ (O) ()/’ f)‘( 9 ~in (,,/oﬂ,J ﬂ?u Fh )
s

(Type-anordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

4(0) Choose the correct grapfoff(x)-below,
N

"./ﬁ'//(
Oc.

(Type ur-dnswer in interval notation.)

Answers (— 00,00)

A. The intercept(s) is/are | (-1,0),(0,0) . s ;f?ﬁ 3
(Type an ordered pair. Use a comma to separate answers as needed.) / £ &

i (o w | e
)(,2/77:-‘4 = —/Z, e
- el <L

(= 00,00)

ID: 1.4.37 GRY _J,'l""}{ ZMD /}7&/1{‘#_
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8.

(%

/{/

Qeehcos. tl're/orrect graph of Q(x) = —f(x) below.

8 of 27

The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@ FO)=f(x)+4 (b) G(x) =f(x +2) (c) Px) = - f(x)

1
(d) Hx) = f(x +2) - 2 (e) Qx) = 5 f(x) (f) g(x) =f(-x)

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) = f(x) + 4 below.

O A O B.

(b) Choose the correct graph of G(x) = f(x + 2) below.

O A O B.

12/2/2019, 8:14 AM
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/(//

(f) Choose the correct graph of g(x) = f( — x) below.

O A. OB.

9 of 27 12/2/2019, 8:14 AM
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Answers

ID: 1.5.63
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9.
(a) Graph f(x) = |x + 7| - 3 using transformations. j}y
(b) Find the area of the region bounded by f and the x-axis i
that lies below the x-axis. _ 8-1

q (a) Graph f(x). E-I
..‘_

(Use the graphing tool provided to graph the function.)

12
(b) The area of the regipn bounded by f and the x-axis that | :
lies below the x-axis is | | square units. e e e = . TP SN
(Simplify your answer.) 10 e [ a2 2‘ 2318 [ 8] 10

L4

61

B~

Answers

11 of 27 12/2/2019, 8:14 AM
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10. Find ge’zﬁos if any, of the quadratrc function LISI tﬁ'{ﬁﬁﬁfatzfom .~What are the x- intercepts, if any, of the g__ph
of the-function? i G | S e e
(4/ g,”z rades -GV D)y /()ﬂf"(’u = i
fx)=ax® +5+10x . 2(%) g __.»
é*/ Pkin B ,-/wr{/ oI
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. |
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma fi

separate answers as needed.) I /-\_, > /c/‘- s =

() A. The zeros and the x-intercepts are the same. They are . ? (//
Th -i t different. Th , the x-i ~/ Y11 () - h
O B. e zeros and the x-intercepts are differen e zeros are the x mtercepts: | M (/
are 5
() €. There is no real zero solution and no x-intercept. = S 2 (f;:
-= O]
Answer: A. The zeros and the x-intercepts are the same. They are :\,)&( S ¢ )

ID: 2.3.47
T —— e — =S =
y 11.. Find the @ros of{the functlcn What are tPe x-mtercepts of the graph of the function?
g(x)=x-34/x =28 —

fos

¥°() A. The zeros and the x-intercepts are the same. They are

Select the correct choice below and fill in the answer box to complete your choice.

.

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
i) B.
are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

dh A= —LE= O

(= Zys 3 Rk
(’{ Z.Zy (Bb/‘) 5Q\~M bt/ stds o
k=) (e = @ 3" g

PR § A C i

Wt G x 7777 Q)

(= ik + 779 T X

12 0f 27 12/2/2019, 8:14 AM
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(1%

F/ or the quadratic function f(x) = x - 6x -7, answer parts (a) 20 _‘“

through (c). !
16
(a) Graph the quadratic function by determining whether its 123
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. B4
Does the graph of f open up or down? 4-

i X

L T 5 L Ty L 0 e

up 20 -18/-12 B8 4] 4 8 a2 18 20
down 4
What are the coordinates of the vertex? &
124
The vertex of the parabola i is | :
(Type an ordered pair. Use integers or fractlons for any 16+
numbers in the expression.) 205

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

14 of 27 12/2/2019, 8:14 AM
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—

16 of 27

For the quadratic function f(x) = - 25 +2x - 5, answer parts

(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of f is
(Type an ordered pair.)

The axis of symmetry is .
(Type an equation. Simplify your answer.)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis | I
(Type your answer in interval notation.)

The range of fis :
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it

is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval |
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

X

A0

Lo i e e

6 8 10

12/2/2019, 8:14 AM






finalm1314COC027sulllljj RZZZSZ-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

14. Determine, without graphm? -whether-the given quadratic function hag'a maxlmum value ora m|n|mum value and then find
the value. \S"” oA 5}4 e, .

q f(x)= —3x% +6x -9 N> 7/V'

a=-3 |z C'=— “
Does the quadratic funct%rff have a mi‘riimum value or a maximum‘{alue"’

() The function f has a maximum value. Vs f/.( / / & g _/ ﬁZ_

() The function f has a minimum value. . (-3 ) 3 ('*3

What is this minimum or maximum value? V%{-& (_—é / C:;'))
(Simplify your aﬁswen) OL:A’PX"— / [ %/ /) ) »
. = — &
Answers The function fhas a r&gx;;um[value (’ > (1) ‘1“ (;( I') =% ) /
-6 Verin = (1, =3(DCO+ 61~F) =
\/’/L"x (/) 36— 1)

ID: 2.4.59 | L4 — e )

15. Find the verti , andoblique asymptotes if any, for the follow:nqﬁtmnal functlon

i St cid asy m;}‘x‘./}/‘)
2x 2 £ g
4 R(x)=x—+13 ku #dm — o ‘\I _ ()(—_f—/} ___/} - JS——/ ]

S

A ’_’,—-/F\

4

Select the correct choice below and ﬂ[l in any answer box?s within your choice.

Az, A —
() A. The vertical asymptote(s) is/are x = @+( e e / v brkc X "f L/

(Use a comma to separate answers as needed.) =
() B. There is no vertical asymptote. J \_7\
4{
Select the correct choice below and fill in any answer boxes lihln yourc it:lc:e"1 6 S/ < fﬁpﬂ%l)[(l /h/
~y Cé" Ay Aishir B, b1 oy,
2x . Z _ 2

———— S—

() A. The horizontal asymptote(s) is/are y = ﬁ;(/
(Use a comma to separate answers as needed.)

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice. _{ X l
— e

) A, The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needeg

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -13 |.(Use a comma to separat?answars-as needed))

A. The horizontal asymptote(s) is/are y = 2 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote. i el e

: r\_—'_——__—_—""‘
5//7 A Afj/ﬂ;’é ﬂ W 69 %U/ /s Sa r2(
ID: 3.4.4_5 R fﬁl' b /:Lb,,,, a4 /o,./ )n /4/,7 ) /4/2(,, ’ /J ljl

(o ﬂ/f Tyt ™ T

18 of 27 19, 8:14 AM
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16. For f(x) = 8x + 5 and g(x) = 8x, find the following composite functions and state the domain of each.
(@) fog (b) gof (c) fof (d) gog

a (@) (fog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

-

19 of 27

OA.

O B.

The domain of fo g is {x | .
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o g is all real numbers.

(b) (g o H)(x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

O B.

The domain of g o fis {x | ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o fis all real numbers.

(c) (fo H)(x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

O B.

The domain of fo fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o f is all real numbers.

(@) (gog)x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

The domain ofgo giis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o g is all real numbers.

Answers 64x+5

B. The domain of f o g is all real numbers.
64x +40

B. The domain of g o fis all real numbers.
64x +45

B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.

12/2/2019, 8:14 AM
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) /The function f(x) = 4x — 1 is one-to-one. Ay
i
(a) Find the inverse of f and check the answer. 20‘_
b) Find the domain and the range of fand f~ 1. 164
( ,
(c) Graph f, f~ ! , and y = x on the same coordinate axes. 121
i | -1 3:'
' @f (= ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] %
) ) . ) 20 6 A2 B |- 4 4 8 12| 16 | 20
(b) Find the domain of f. Select the correct choice below and, if 4]
necessary, fill in the answer box to complete your choice. i
g-
() A. The domain is {x|x= }. 4]
() B- The domain is {x|x# ) e
() C. The domain is {x[xs } nRE T
() D. The domain is the set of all real ; . By e
numbers. (;(/ - (./)(’- ( H‘“\\
Find the range of f. Select the correct choice below and, if /' ){ = ( \
necessary, fill in the answer box to complete your choice. ,o;iL ) V ﬁ\
SN Ves
() A. Therangeis {y[yz } / Y" (.//(/ ( )( o }i
f - &
) B. - .J .) j“"/
L) The range is {y|y¢ } {/ ’f/ — fﬂ"‘/ \j
— 7 v
) C. Therange s {y|y < } )< —(— / & L'f);
: gl
{_» D. The range is the set of all real numbers. ,,f

| K~

Find the domain of f~ '. Select the correct choice beléw and, if

necessary, fill in the answer box to complete your chq|ce */ /
| ~
___,_.—o—"'

(7 A The domain is {x|x< }. _,_,-—E/
" B. The domain is {x|x2 }. EFT / N
7 C. The domain is {x|x# }. /(( p
] (/(_’~ P
{ > D. The domain is the set of all real / i

numbers. F m— =l

Xt T e L

Find the range of f 1. Select the correct choice below%and, if
necessary, fill in the answer box to complete your choi'ie.

: — Ni/egse |/
(7 A. Therange is {y|y# } ! mpttS /[)j‘( % /
A I \\
(. B. Therangeis {ylyZw } X"f / ) \ 3/
() C. The range is {y|y < } / / A/

i 7 D. The range is the set of all real numbers.

(c) Graphf, f~ ! , and y = x on the same coordinate axes. Use A}
the graphing tool to graph the functions. .

2 of 2" 12/2/2019, 8:14 AM
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A L ’.!-r'/‘
nswers — )(
D. The domain is the set of all real numbers. == ) ==

D. The range is the set of all real numbers. — }(

-
l‘. \
".~ <

D. The domain is the set of all real numbers

= .
D. The range is the set of all real numb - ‘1"/ / ,74
/ -
;i A

12
a i
.1_
20 e-_ﬁ =12
ID: 4.2.53
e e

18. Solve the equation.

7Y %
* 64~ ** % = 428 (2
The solution set is { ‘1\ r Lwrilk

(Type an integer or a simplified fractlon Use a comma to separate answers as needed.)

\\ . ¢ x tT/%6 \ 7><
Answer: 12 Q bt | xz

ID: 4.3.73 -—-G)( 7156 = /X
—G X f-f//(ji‘r’/: (X ~176
—~Cx = [(X—/5€ |
~6 x — X © I~/ 2<
— |3 =—/76

— (33X - =Lt
e

23 0f 27 . 7312019, 8:THAM__
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19. Solve the equation.

4 log 5(8x+1)=5 O}/Z\ ((9/ —f )

Change the given logarithmic equation to exponentialform. - {m\( | , ¢

i' |

(Type an equation. Do not simplify.) )
o ANV AR S

The solution set is { Ip-

(Simplify your answer. Use a comma to separate answers as needed.) 3 é g g )( Ff /

Answers gy 4 { = 25 3( —_— { = f)(%( = (

= 31= 77X
B/‘L an % G 7
ID: 4.4.91-Setup & Solve 7 :

20. Write the expression as a sum and/or difference of logarithms. Express powersas factors.

’ Ioglx<x+4:],x>0

(x+7)

—_—

7 A ¢

/a;(" = CusB)— (ofé'/
%/’) (ujﬂj”f' ("f{g/
(,05 (/4@"" wCos (A)

4 :
log [x(x i : ] = (Simplify your answer.)
(x+7)

Answer: log x+ log(x+4)—4log (x+7)

ID: 4.5.51

Log ( X Ctzs))_ ' I
K+2) 7
Cos (xthr))—— Cos(A77) = = &

(oy(A o5 (gl = ﬁg//”)
@ﬁ (x) +éaj5(+f’}’"‘ G loy(X+7) =

of 27 12/2/2019, 8:14 AM
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B | [U (/)(/( )) _rtweke
21. Solve the logarithmic equation, N @;{4 /—/’ (‘/) M/ ( d)
ﬁ log x+ log (x-3)=1 /() ~ /()(,}

Determine the equation to be solved after remov,{lg the logarithm.,

l ; /U— 'ij

(Type an equation. Do not simplify.) X t— }"X' —pD (24( Ck_ N [ . 5) {
Q- (U3 ()t
Select the correct choice below and, if necessary, filli answer hox to complete your choi ;
O & ~+2-A4—S | Tevy (571 C(2) =
© A. The solution set is { Yrg = gl s T (g,z”
(Simplify your answer. Type an exact a)éwer Use a comma to separate answers as 60 v @V ¢ Cﬁ'{

(O B. There is no solution.

O/LQ’ ((//wclc
5 ()4 Cos (~2 3T

A. The solution set is Aoy=L) T ( vs(=5)< P
(Simplify your answer. Typ an exact answa/éﬁ ﬁmma twﬁnmm S needed )

ID: 4.6.17- Setup & Solve

Answers x(x—3)=10

22. F|nd the amount th. esults from the gsven lnvestment

$209,)nvest at 6% corﬁpounde@rterly aher a peri@r: :

After 2 years, the investment results in $

(Round to the nearestcentasneeded) ) ,V_c_(‘ / 7 j

Answer: 225. 30V ! /ﬂ /‘-T A/ ()C (2) Z/du (/’_f G 6) /’ {'J :
/UL)E ?,,?,— - ) iif_Y 7 3 4}/&7/(

ID: 4.7.7 // uJ({~f GC) /4 ,A 5,,* EOW guu../

-~

t 7% compounde quaﬁerly7@mpounded )

'p;....tl

———

23. How long does it take for an investment té double /n value if it is investe

conhnuously"

e e e

pﬁa’ ) At 7% compounded quarterly, the investment doubles in about |
(Round to two decimal places as needed.)

. At 7% compounded continuously, the investment doubles in al about [
(Round to two decimal places as needed.)
(1
Answers 9. 9;> U’/
9.90 ZOU—/()()(/—,L“"??

ID: 4.7.35

25of 27 12/2/2019, 8:14 AM
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24. How many years will it take for an initial i
“{ compounded continuously. -

- , It will take about |

https://xlitemprod.pearsoncmg,.com/api/v1/print/math

.‘ N
$10 0009 grow/to $35,0007? \Assume a rate of interegt of 15% \

Jff;«.é_-‘ /’)ﬂ'{(g 5) 1./(/ :/!’()

years for the investment to grow to $35,000.

(Round to two;cunal places as n?ded] eo [S¢ o (.)o h) ) /T( Ad%y/
oo

Answer: 8.35 3 il / v ( (} 5) /T( /7 —-—W’) ﬂr

%Waﬂmue,;k@»—wﬁgz,ék
. T /uoevd /»);/ é/_i—(-_;_‘—é_ - wl SE ~ . culiiinml

ID: 4.7.41 3 S c » f— o /S v/ 7 X,j 5 / 7;3_/[_5_ _( -

— ——_______________5
25. The population of a olony of mosquitoes obeys the | mnhibuted growth Use this information t ) aNSWeT parts (a (‘)* —
/t;y;ough (©). & Tii,f < /_?

{a)\lf N is the population of the colony and tis the time in days, express N as a function of t. Consider N is the original
mount at t=0 and k # 0 is a constant that represents the growth rate.

N(t) = (Type an expression using t as the variable and in terms of e.)
e o
(b) Zle population of a-calony oﬂﬁnosquntoes 'obeys the law of uninhibited growth. If there are 1000/rraas_gwto\smltlally and
1900 aftér 1 day, what is the size of the colony %r 2 days?> Lfc iy
Approxmately |

- osquntoes L ic € —
(Do Qgt round until the final answer. Then roud to fhe nearest whole number as needed.)

@ long is it until there a@QQﬁ 'tog_s?; 2

, _ / < fee
About | | days.

(Do not round until the final answer. Then round to the nearest tenth as needed. / )v?w L1 5 5
! 4 N

oy i C/ ME = Mo~ o )= N )/
3610 = ‘ y,w (

53

///(‘/ ‘ Ac/ ( k1)
/900 = /000 C

ID: 4.8.5 L 1(6\ -~
/o0 = [000 Fﬂ,_,_,//
/S ov _ /o C
/S oJdo /00

| (B F /{fx”'
, R (1)< ﬂ/ >
A (14) = k) ,/

S(t1)EN)
(B TE TV

26 0f 27 T L //g.{)& 12/212019, 8:14 AM
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[y 23 26N

26. Solve the system of equations. If the system has no solution, say that it is/irmoﬁ§i'§fént.

o —ayes / 3 )(** 7Y :'CS” s \t 2 34 . 69
O X+ G T ‘ — M
{ 5x +y =16 q 2 /Sii/_ __Y J. 23 o ey k. ._}

23X 70 6 =t (U,

Select the correct choice below and, if necessary, fill in any answer boxes within your choi b
L2

W, d

(Type an integers or simplified fractions.)

e ¥
O A. The solution of the system is x = andy= - g )( =8 %y =g
7 .

- . . : . o 3(%) 5
(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as y
{xyix= .y any real number}. q — (/7 = &
(Simplify your answer. Type an expression using y as the variable as needed.) // Gl = *
= — .
(O €. The system is inconsistent. /4 - 7 y
— L( [ = - (?/
/ - t._(
Answer: A. The solution of the system is x = 3 landy= 1 l kfy =
(Type an integers or simplified fractions:) — - ,}— —y
"‘::__- - - o — — g — ~
3 — . &
e /)14 v)=(3, /) % £ 9Ef
ID:6.1.33 ) / — w
—— — T—__——_ (e — —_'—'_ — ____.--P"/

27. Solve the given system of equations. If-the system has no solution, say that it is incons?tent.

a c-zyezs 2 JAD, /%C/M’Z/ CI/J';{/ /‘Z/ XY S
._Z 3 5
(

2x+ y+ z= 4/ 7 / /e
“ax+2y-22= -17| ﬁ( Z K e
N S =3 Z -4 -7

Select the correct choice below and fill in any answer boxes within your-choice.

() A. The solution is x= R ,andz= (Type / /
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= ,y=_ ,zanyreal number}.
(Simplify your answers. Type expressions using z as the variable as needed.)

(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{xy2)|x=_yanyreal number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.

-

The solution is x = 3 VY= -3 Landz=| 1 '!. (Type integer;_br simplified

fractions.)

'”}-/VD/_ /1 Lrsx /74@14

p reeAC )

ID: 6.1.45

V/f%(ﬂyf/é ;
) Lo o /.

27 of 27 e —8:14- AM
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